AR A 0302

Third Semester Three Year LL.B. Examination, January 2012
LABOUR LAW (Course-1l)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all questions.
2. One essay type and one short note question or problem from
each Unit have to be attempted, which is referred as Part (a) &
(b) in all Units.
3. Answers should be written either in English or Kannada
completely.
4. Figures to the right indicate marks.

UNIT -1
Q. No. 1. (a) Explain the provisions of the Industrial Disputes Act, 1947
relating to award. Marks : 15

DSERFT FOWORRT WERENT QTTNY @HICPRY 1947 TYTOH
SOTIOGNTR DFORO.

OR/&5m

Explain ‘Industrial Dispute’. When does an individual dispute
become an Industrial Dispute ?

‘@dr%ef\% QT * RO, OINTON WOTID %Qﬁ&é% QTR @cﬁr%eﬂ%
DTITITNZT ?

(b) Write note on: Marks : 5
£33 2380000

Settlement
Q%@R

OR/e5se

Workman.

TOEB,
P.T.O.
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UNIT =1l
Q. No. 2. (a) Explain the provisions for recovery of money due to workman
from the employer under I.D. Act 1947. Marks : 15
W3R, eNE QETNY LHRCDERD 1947 To QSR ERFIOT T BN wdééé
T DRRON BOWOPIT wawocjmﬁ@t NWOR0.
OR/&5se

Termination of service of workman by the employer for any reason
what soever amounts to retrenchment. Explain with the help of
decided cases.

BROETRD 03RR)TE FITLINOT ToF IS ﬂedoﬁoﬁg{ ©20STONRTRONT
SBRETD BRBINFOINRNIZT, @owd@t SRR QB TFTLNERL O QTOR.

(b) Write short notes on: Marks : 5

£33 2380000 :
Lay-off.

emdr%eri 2OQ.

OR/&5s

Closure.
mw%@-a

UNIT -1l

Q. No. 3. (a) Explain the provisions of Trade Union Act 1926 relating to
registration of Trade Union. Marks : 15

T B RO L0 1926 T ToF T RTINS BP0 ROWORIT
PTBWOGNTR 2308

OR/&5se

What is the procedure for realisation of compensation under the
Workmen’s Compensation Act 1923 ? Explain.

TRFT TR, TOTT LHACLERD 1923 TRODE FH BOTT HHEOD
SRORORLIETT T 3030 D0 ? QBORO.



(b)

Q. No. 4. (a)

(b)

The registrar of Trade Union withdraw a certificate on the ground
that it was obtained by fraud. The trade union challenged the order
of registrar. Advice.

SROTRTORFTIOOIN FToF S & ofy@ QBT BTN @ 35& RBREROT
DR adsaa N éood@ TREERORI, @d@%ﬁd& @ébar% #ow@ wéwéd
- 203 @G@@

OR/&5s

‘A’ is employed as a driver in KSRTC. While driving he met with an
accident and he lost vision of the left eye. Is he entitle to claim
compensation ? Decide with reason.

BT 638 003, MON A oﬂojaeﬁ @ QOLVTRR LIDOBINN FOR Va3 2oRIET)

@wmsmeﬁm 35 @6571955 é&oﬁao‘m éﬁmm%@ﬁ ~553 DTS

BB @&frée 2 et éeﬁmrm
UNIT -1V

Examine the different kinds of benefits available under Employee’s
State Insurance Act, 1948.

1948 S5 30 Tozg, 39 ToOTOROIY TERTOIE QT3 CoRNER)
T0&COD.

OR/e5se
How to determine the contribution towards provident fund ? Explain
the mechanism to recover dues from the employer.

BPOFT QR FoF GO wit Tert ? 203ReIZR0T ForzodERN
BN W% WRPECREMON VTS 30@5@ QORD.

Write short note :

£33 2980000 :
Object and scope of the Maternity Benefit Act 1961.

esterat @@2% Q03w 1961 T e,ruc:(ﬁ;eé =02 R
OR/&5m

Scope of the Employee’s Provident Funds and Miscellaneous
Provisions Act, 1952.

S9TT3 PRRT® AR 308 O, YUBOGNY HR0R1952 Tem
B0 &3¢ LTAD.

0302

Marks : 5

Marks : 15

Marks : 5
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UNIT -V

Q. No. 5. (a) Explain the provisions relating to “Safety” in the Factories Act 1948. Marks : 15

(b)

FATOFING LIOV03030 1948 T0B Q30 NG ‘ﬁxﬁgé’ o mmoqsmf:%
S30R0.

OR/&5se

What is minimum wages ? How it shall be fixed ? Explain.
TR BT 0TI 7 LR TN ANOTERRLBITO 7 D[ORO.

Write short note on :

wdws’é 203000 :

Essential features of Contract Labour (Regulation & Abolition)
Act, 1970.

FOR00 BETT ( Q030869 208 dcgs%) 2Q0HT1970 T mg% @i; N0,

OR/e5se

Canteens & Creches under Factories Act, 1948.

SUTEIT TN O 235, BB TWOUTD ERTRNED ToaTF SN RN
1948 SaoDHE),

Marks : 5



